
Example: 4,689 rounded to the nearest 1,000 is 5,000

Round numbers 0-10,000 to the nearest 1000
Round numbers to the nearest 10 or 100

Round numbers to the nearest 10 or 100

1. 9. 17.63932 = 4,389 =

2. 10. 18.5,423 =7,461 =
2,659 =

3. 11. 19.1,872 =4,934 =
3,621 =

4. 12. 20.8,561 =8,114 =
8,741 =

5. 13. 21.988 =305 546 =

6. 14. 22.2,193 =2,768 = 6,356 =

7. 15. 23.4,712 =56 = 9,188 =

8. 16. 24.3417,297 3,629 =



Example: 4,689 rounded to the nearest 1,000 is 5,000

Round numbers 0-10,000 to the nearest 1000
Round numbers to the nearest 10 or 100

Round numbers to the nearest 10 or 100

1. 9. 17.1,275 =2,432 = 5,184 =

2. 10. 18.7,593 =7,891 =
7,384 =                                

3. 11. 19.4,879 =4,168 =
1,932 =

4. 12. 20.9,227 =9,543 =
4,435 =

5. 13. 21.9,227 =3,672 = 9,664 =

6. 14. 22.6,932 =6,784 = 2,218 =

7. 15. 23.8,758 =8,312 = 6,657 =

8. 16. 24.3,561 =5,469 = 8,521 =



Example: 4,689 rounded to the nearest 1,000 is 5,000

Round numbers 0-10,000 to the nearest 1000
Round numbers to the nearest 10 or 100

Round numbers to the nearest 10 or 100

1. 9. 17.1,768 =3,294 = 518 =

2. 10. 18.751 = 819 =
6243 =

3. 11. 19. 7,529 =4,476 =
8,915 =

4. 12. 20.227 =,153 =
435 =

5. 13. 21.4,989 =2791 =

6. 14. 22.9,372 =134 = 5,781 =

7. 15. 23.758 = 7,984 =

8. 16. 24.3,859  =842 = 526 =

8,642 =

2,367 =  


